| [~— 74" MAX. O.A. FRAME WIDTH ——|
R IR Y 2 n
fll TRINITY GLASS 2
i B )
M
INTERNATIONAL OO0 5= 2 .
Lom
25w
0] o i
o @ 3 n%
. - ZOoowp
ué % % LZD a8 8 o ]
oy = <€ ; - o X [o] g"
OPAQUE FIBERGLASS £5 2 : 3 gp2é
X2 5 = = = = ~|s Eg 5%¢,
= <9 X X Qg g8 Z2ssa
DOUBLE DOOR : = IEmElEE S AL
0 in —le L,
£ 2 Blisf
w/ or w/out SIDELITE(S) <[e &2
n v 8 Xa @
IMPACT /Sy Sy gy T
(]
INSWING / OUTSWING 35
g | 22
= S
% 82
105" MAX. O.A. FRAME WIDTH 2] =i
GENERAL NOTES 15.5" MAX 3 [§s°
R AME WlDiH 74" MAX. FRAME WIDTH > S| 4
This product has been evaluated and is in compliance with the 7th Edition (2020) Florida = ﬁ f &
Building Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" . E 435
(HVHZ). - g o Eﬁ
Al OO | OO -
Product anchors shall be as listed and spaced as shown on details. Anchor embedment 4 o < =
to base material shall be beyond wall dressing or stucco. = - — T — — —
O 5 >
When used in areas requiring wind borne debris protection, this product complies with FBC o %
Sections 1609.1.2 & R301.2.1.2 and does not require an impact resistant covering. This Y 5 )
product meets missile level "D" and excludes Wind Zone 4 as defined in ASTM E 1996 and <z 5 % O
FBC Sections 1609.1.2.2 & R301.2.1.2.1. E z Eg o
32 %3 == ] ==
For 2x stud framing construction, anchoring of these units shall be the same as that shown = <§( = HX — L& GX‘:. g
for 2x buck masonry construction. 2 in [ | &)
EN x %)
Site conditions that deviate from the details of this drawing require further engineering / E
analysis by a licensed engineer or registered architect. ///
1] |1}
TABLE OF CONTENTS
SHEET# | DESCRIPTION
] Typical elevations, design pressures & general notes
2 Door panel details =
3 Sidelite panel defails S
4 Elevations .
5 Horizontal and verfical cross sections [2x buck DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF) S
6 Horizontal and vertical cross sections (1x buck CONFIGURATION MT%I\;I’,EA " INSWING OUTSWING e 3/24/21
7 Horizontal and vertical cross sections (Direct to Masonry) :
8 Hoiizorial cross sechons POSITIVE | NEGATIVE | POSITIVE | NEGATIVE SCAE: N.T.S.
9 Vertical cross sections XX, OXXO FJ PINE +45.0 -45.0 +45.0 -45.0 owe. B:  RW
10 Buck anchoring . ’ - - cHk. B:  LFS
1] gcme GnchfﬂnQ XX, OXXO COMPOSITE +45.0 -45.0 +45.0 -45.0 DRAWING NO.:
12 omponents _
13 Bill of materials el
SHEET _1_ oF 13

Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.14-15.dwg




Z:AClients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.14-1 5.dwg

031" —= =

EXTERIOR —— 0.25"
44
: N
% N
, ’ \\
STLE CAP

(LVL)

/"1 \ HORIZONTAL CROSS SECTION

317"
.
~
% I
STILE CAP HINGE STILE
(PVC) (LVL)
\2/
35.75" MAX.
PANEL WIDTH
<l
]
| = 71N
<7
\2/ o
<
0.
e}
fa T
- 5
5 %
7 = [s4]
= B 3
% —
< o
%
= X
S e ,‘\
SEE HARDWARE
TABLE

40 OPAQUE DOOR PANEL

Fiberglass

DOOR SKIN: 0.085" MIN. THK. FIBERGLASS
CORE MATERIAL: POLYURETHANE FOAM

MANUFACTURER |
KNOB: SIGNATURE SERIES
ET
KWIKS DEADBOLT:  SIGNATURE SERIES (980)
KNOB: F SERIES
SCHLAGE DEADBOLT:  B&0 SERIES

] TOP RAIL
& / (COMP)
9 TOP RAL
REINFORCEMENT
=y
1
-
FOAMCORE — [l
. I‘I’I“ -
EXTERIOR INTERIOR
FIBERGLASS
KN - S g
BOTIOM RAIL
REINFORCEMENT
= (LVL)

0.8"

ot | 4" —-]

s .
Nl T BOTIOM RAL

(COMP)

- 1.75" ——

@ VERTICAL CROSS SECTION
2

April 13, 2021

n
N
0
]
[ L]
Z
__j'\
m.“-c»n
-
E o
Z0g0
Sty
J00o
22wz
26w
3 a8
8 §B
v B 0520
2 E ZR,%
5 Eo F0o
a £0 o ,cu
28* 3000.
e "? @aalk
PR
OCZ
£ 87
§ gu
o 2d
~ ]
= | E
g)’) [
vay  ped
3 3 o
o §<ZE
e g‘l
= o
= 20
i o
515 xl Q
3 S
'_.
©
& =
o [A N
>—
m
0
=z
)
)
|
o
=
<€
a
o
z

OATE: 3/24/21

scALE:  N,T.S.

DWG. BY: RW

|cHK. BY: LFS

DRAWING NO.:
FL—-25575.14

SHEET _2 oOF 13

© 2021 R.W. BUILDING CONSULTANTS ING.



Z\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.14-15.dwg

13.75" MAX.
PANEL WIDTH
675'MAX ||
D.L.O. WIDTH
D
/
V4

/

1.58"

- 1.75" —=

G1) G2

EXTERIOR

Vi
[

STILE
(LVL)

INTERIOR

/1 \ HORIZONTAL CROSS SECTION

INTERIOR

EXTERIOR
#8 X 1-1/8" SELF

~—7/16" GLASS BITE

L

A\Y

THREADING SCREW %

#8 X 1-1/8" SELF

THREADING SCREW

(TYP.)

78.75" MAX, D.L.O. HEIGHT
P
N

95" MAX. PANEL HEIGHT

. SIDELITE PANEL
Fiberglass

DOOR SKIN: 0.075" MIN. THK. FIBERGLASS
CORE MATERIAL: POLYURETHANE FOAM

7.75" MAX.
0.C. [TYP)

\

C:) GLAZING DETAIL
DUAL GLAZED

INTERIOR

[* 1.39"

—

[-w 1.62" a—'

. LITE FRAME

—— 1" O.A. THK GLASS

1/8" ANNEALED GLASS

4 —— 0.090" SAFLEX PVB INTERLAYER
Z 1/8" ANNEALED GLASS

:s' AIR SPACE
1/8" TEMPERED GLASS
ST. STEEL SPACER

*DOW 995 STRUCTURAL SEALANT

7/16" GLASS BITE

— 1" O.A. THK GLASS

1/8" ANNEALED GLASS

¥/
v
L4

~~ —0.090" SAFLEX PVB INTERLAYER
2 ——_1/8" ANNEALED GLASS

DECORATIVE GLASS

EXTERIOR

#8 X 1-1/8" SELF

AIR SPACE
5/32" TEMPERED GLASS

DURASEAL SPACER

7

THREADING SCREW %

(TYP.)

C) GLAZING DETAIL
TRIPLE GLAZED

A
\\\\\ x I”’/
~>\\\& . R LTI ///,, o
»* ®-, -
TOP RAIL N %’:. 2
(COMP] ISy g € azg P
=z O * BES==pn
el 12 2 g ‘OSv an
e © QL sam
” .'.‘ .O‘ @\\ % .Q [0:] 22
e %, 2 &QS EEB
- . “, RO 3 cmz
< - - Iy §a0e
- & SRR
‘ - U O Xz o
— |12 E, Z28.¢
H £g g ®ey
gy 5028
slETe moEl
2y
5 .8 §
<5 3§
g cul Q%’
Q o
i
- =
< <
= | &
[75}
G1)G2 (:'r,) . o
=
(G o &
=
E o |E
" s |93
]
A\ o L P =
8 ol
EXTERIOR INTERIOR 2 by
0. oo
# &
2}
il
Q
FIBERGLASS 7
SKIN o
e
W
¥/
G
ol FOAM CORE B
e COMP/PVC :
* ( /PVC) scAE:  N.T.S.
- 1.75" —» DWG. BY: RW
CHK. BY: LFS
/2 VERTICAL CROSS SECTION A NG
3/ FL-25575.14
SHEET _ 3 oF 13

LLLLLET

@ 2021 R.W. BUILDING CONSULTANTS INC.



*ON| SANVLINSNOD BNIgUNE MY 1202 O

£186 "ON Ansibey 3dgd SNOISIATY -
LELE'6G9'CLE ON suoud A8 3A1vd TON] Iim
S6SEE 714 ‘O9HIDA ‘0£T X8 'O'd \Su SNOLVAZ 13 NHEEH N
"ONI ‘SLNVLINSNOD ONIaling g« XTANISSY d0 19vd SR8
45:::.:\? Q= g Q 4_

////%JNQO\Q\\\\ 80YSY 'ON 'I'd RN
" oo toeoes, % IPILYDS "4 UOPpUA TANI SSYT19 ALINIML i w slulE 0| B
\\ :Ag podbdeld sjuswnsog -10N30¥d 231815 W %

1202 ‘sl judy

a4
SN/
&%,
>
&

730
SN/

730
AN/
(2
9/

D

BMp'SL-#1'52552-14\(0202) 52552 T4\sBumelq 'D\£5S2 - Td\sferoiddy 1onpoid epuod - VALNINVINYI ssejo Anulil\siusiiD\z



Z\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.14-15.dwg

D

B N N N < a o ~
T . ?4 NG -2 - - /
< i . o - el
. . . . T L L q
NS T a v 4 . - s <
- ' el . R
g 9 a . . : .
R . < . B <

a
b

Za
2E
NP
<_f§__<> o
7 in z o
SBE
EXTERIOR INTERIOR
A\
/3" VERTICAL CROSS SECTION
w Outswing shown - Inswing also approved
1-1/4" MIN.
EMB. (TYP.)
S N 0.15"
v : —o]| l— C'SINK
SRR ' (TYP.)

INTERIOR

<y ‘b
~ : )
(®) a '
: q’ . l
. " /flk\.\

O AR LTI SN A

IEALEETE A7
AN

EXTERIOR

/ 1"\ HORIZONTAL CROSS SECTION
W Outswing shown - Inswing also approved

D N A ’,
\‘\\ A, - ' 4// ,”/ 0
» < N q N a N © . ) S\Q.-'. ..'. ”, %
el S8y s hiSeh
R o a - 9 v - e § ¥ L=z
, . . o9 e g =0 A H S T
. < A a . a 9 . —m'. 2 Q’:o:([). -
6 : 2 g ) a Z oo SaNSE 0w
.\~ AN SDSZ O0g0
7 . SOS fEo
7, N - D0 o
9 2 W\ g omZ
£E “annfndy Zger
Y oL & O %
<———————@ =< 8 0x28
~ G — |8 Eo Z my o
S B £0 3 . Ccly
SE Ay 5925
‘ Gt ¢ Badk
e w
518 c2
* ZIiE 5% §
@ NOTE: ; 3 Buj e<
LZg 1. Item #26 located 6" from each end 8 2o
ss = plus 5 more equally spaced (7 total).
EXTERIOR INTERIOR =%
. S3
: =m
W E | Bx
Z S
(4 \ VERTICAL CROSS SECTION 3 9y
w Outswing shown - Inswing also approved é 5 <8
2 25
b ol =9
= |48%
1" e oz N(f)
1-1/4" MIN. S5 || 23
EMB. (TYP.) g 8 98
« <) el ©
o £
L >
- o
0.15" N
C'SINK —m] fee— A
(TYP.) <,
7 %)
. &
‘ ]
INTERIOR @ v o
2
VP
V‘ ) D
~ v.
~ o, w
T <
. [
ey 2
DATE:
EXTERIOR SEE NOTE 1 : e 3/51;/821
o DWG. BY: RW
cHK. BY:  LFS
2"\ HORIZONTAL CROSS SECTION DRAVING 7
W Qutswing shown - Inswing also approved FL—25575.14
SHEET _ 5 oF 13

\““""l
\\\\\ X i,

© 2021 R.W. BUILDING DONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.14-15.dwg

F
» o
I R 7 v
. - e oa e
< ’ L A'AV a4 )
2z
Yo
=3
- 1L
7
EXTERIOR INTERIOR @
A\

7“3\ VERTICAL CROSS SECTION

\é/ Outswing shown - Inswing also approved

1-1/4" MIN.
EMB. (TYP.)

ST TR R

%4
a

a
. S ‘vv,Ard'vA,
CA . ) )

% | ‘
o
AN

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

W

INTERIOR

m VERTICAL CROSS SECTION

w Outswing shown - Inswing also approved

o INTERIOR

,,,,,,

V//;////l N

'»

\
o
\

N\

& - [
5o Lo

EXTERIOR

71"\ HORIZONTAL CROSS SECTION

w Outswing shown - Inswing also approved

NOTE:

1.

1-1/4" MIN.

item #26 located 6" from each end
plus 5 more equally spaced (7 total).

EMB. (TYP.)

INTERIOR

N

=

EXTERIOR

SEENOTE1

/"2 "\ HORIZONTAL CROSS SECTION

w Outswing shown - Inswing also approved

April 13, 2021

7o}
o
Ty}
]
oM
Z
£ N
m.“-o:n
£ down
200
.
G
22wz
2o
. 5808
k- ON - 2
ma (o~ ]
o U 0520
e £Eo zmem
g o
a-go g .cuw
P o 502§
e Baah
3w,
€ 0
®
£ 6% §
3 0 .
g su
o 2o
N
X
IS
oD
=~ =m
5 S
- >
)
2 .20
3 > =<
) = o
3 28
E e EQ
z |9 &»
X <A Ny
515 x| BN
S ol O
o [ I%
e %
[2 n.
>.
s)
)
bd
o
4]
ol
[
L
<
a
o
-
oATE: 3/24/21
scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL-25575.14

sHEET 6 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



FURRING

1-1/4" MIN,

1" MIN EDGE FURRING SHEET
in
DISTANCE 1" MIN EDGE ROCK 3
SHEET .- 9
Za DISTANCE o™
ROCK z
ZE gy
o NOTE: Y \ G o
1. ltem #26 located " from each end —~ 3 S . g ? § $ 3
plus 5 more equally spaced (7 total). , : - ’ 5 59 o
e L., B §a°2
) B N ) ] - a % O N .Q
e = 3¥ 9x2§
. == Apa Lok
i ’ =lE ¢
< 21t 52 S
o o
@ 3R¢ -
ok
xZ
o 8
EXTERIOR \ INTERIOR = 22
EXTERIOR \§ INTERIOR ' 0 Ee
1] Y
(3> VERTICAL CROSS SECTION (4" VERTICAL CROSS SECTION 3 143s
\_7_/ Oufswing only \7_/ Outswing only > S =
= 72} St
2 |9 =2
Bl x| =8
1-1/4" MIN. 1-1/4" MIN 2 ol 85
- |-— —
EMB. (TYP.) EMB. (TYP.) £ 5 S
SHEET SHEET =
ROCK \ / ROCK .
FURRING
\WV// ; FURRING
A/
v < <
= N . %
— S o INTERIOR %
1 o
O W 4 V % . i3 O L
29 < ‘ 29
z < , | ! zZ
—2_ g g :.\\\\\\\\‘\\\\\\\\(ﬂ\\\ ' %r'v: » =§ YD—’
RO N R SN -
‘ » : ' (e f‘/‘
‘ <} ) \V‘\“l' \ E
< v N 6 [
N o
@ EXTERIOR =
- DATE: 3/24/21
o @ SEENOTE | " /N T/S
@ @ DWG. 8Y: RW
CHK. BY: LFS
/"1 "\ HORIZONTAL CROSS SECTION (22 HORIZONTAL CROSS SECTION RAWING 6
\7_/ Outswing only \7_/ Outswing only FL-25575.14
SHEET _7 oF 13

Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.14-15.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.14-15.dwg

\\

\
\\\ » *
NOTE: S& %z 8
1. ltem #26 located ¢" from each end N $ ) "-:%X; 9
plus 5 more equally spaced (7 otal). =T & S o ..<-\’:‘-_g "
zoil Sk BES==gn
e 293 ¢ &0 son
”W..' o"@: Z.‘—’O’;m
7 D COS EEo
m 7RI A > 3 3¢@e
,/, , Pw\\\\ [ ?
m T a0
&, 9%%
(50) 7 B, g3%e
o
RIESE o588
INTERIOR NOTE 1 (40) S[E0% Bail
s
<|E 87
\
WSy \ | 8
N ‘! N o o
pAd] 1]
) 3 I¥e
© o &l
= a2
@ @ EXTERIOR @ = |8 =
.. o
5183
/" 1"\ HORIZONTAL CROSS SECTION /"2 "\ HORIZONTAL CROSS SECTION 3 H S
\8/ Outswing shown - Inswing also approved w Outswing shown - Inswing also approved o =
>..
m
INTERIOR 53
40 22 7 O 0
O
7]
|
\ o
\
S N
L
<C
EXTERIOR L a
(19) 5
=z
/3" HORIZONTAL CROSS SECTION oNE 32421
\y Outswing shown - inswing also approved SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL-25575.14

XYL TP
awresa. ) ..4? 2,

SHEET _8 ofF 13

© 2021 R.W. BUILDING CONSULTANTS ING.



TON] SANVAINSNGD aNigTing "m' L2202

2186 'ON Ansibey Idad SNOISIAZY <
L616'6G9°CLE "ON 8uoyd A8 31va JON] ~ I im
sesce 14 ‘souon ‘oz o8 od [ SNOILOZS SSOMO TWOILYIA Slulzle] 5 m—
"ONI ‘SINVLINSNOD 9ONIgTING \W% ATENASSY d0 Lavd bl I e P
wilitng, NE: 3 3 9_
/z/z, J<ZO\@¢\\\ 60+¥SH "ON '3I'd it £lgle ¢
2 o&owm&u\\ IPILIYDSS 4 UOPUAT 1IN SSYT9 ALINIML i w slelE|E
S ., > :Ag peJodeid sjuewnooq 110Naoud - Zl5 w 5
.....W.m 1Z0Z ‘g1 |udy
z S F \m
- -oo -.. h'
“ G &
\\\\ szom ////
T
('dAL) awa
NIW #/L-L
(dAL) “8wa & —~
NIW /1L o a
fo—
=
n\< v/ >
v — O
< 7 b
Lo - = m
. o | =
o — O
: * G 3
1 ’ x| E o=
z a8 ) S
v L
MO 8 S
< O &
” N. ja % <o~
- i o2 -
Vq - M
.9 ] [ R
T S|
S T g oo |
52 . .
O q
v
. A <
("dAL) "aW3
NIW W/ 1-L
(4
@)
[a%4
(dALl a3 m_
NIW /11 - =
O
|
QO
S
= 2
o]
[+
O
L —
= o mm
S B =12
[2'4
e} b £ g2
& ) £
Ols
o5
i
O|g
Z E
>0
<
(2% O <
O
[274
Lii
£
[ON]

BMP'SL-tL'52552-14\(0202) §L55¢ TA\SBUIMEIQ D\G£55Z - Td\serciddy 1Dnpoid epLold - YALNINYINYIA 55819 ANUL\SISIDNZ



TONG SINVAIASNGD SNIgUIng "M LZ202 O

€186 'ON Ansibey Idgd SNOISIATY <
L616°659°CLB "ON euoyd Ad 31va TON] — I m
S6SEE 714 ‘OOUIPA ‘O£T XOg "O'd \Su ONIHOHINY 3ong NKIE 2 s M_
o_ﬁ _.Nm_.zﬁ.szoo oNIaTINg K« TLTEW3SSY d0 Luvd Y m 1. 51°
\ 1l gnio
W /i N
///MWAV@ WNO,4,, 60¥SY "ON "3'd m 1E] gl “
N ...,...an.uu...Q “,  IPUYSS "4 uopUAT TNl SSYT19 ALININL i m slelE|B
S S :110n00¥d E HEE %
(dAL) XYW
D091

g
E L
230
o £
=
L o
NN LI L L I I I I L L S . L o L e S I S T I T e e e == m
LT O
Q.
E g
o £
&

HEAD & JAMBS
(TYP.)

-
1
oot
—
——
et
—
ot

£l

(dAL) XYW
dAL
— A :.v v .U.O :0_.

&
— (TYP)
#

2X BUCK ANCHORING

i
XX

3" (TYP.)
HEAD & JAMBS
(TYP)

4" (TYP.)

(TYP.

2X BUCK
(TYP))

W'\/

s

MASONRY
)

BmMp'SL-71'52552-14\0202) 52552 Td\sBumeiq D\/5Sz - T4\sienoiddy 3onpoid epuiold - VALNINVINYI 558D Auti\siusid\z



ZA\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.14-15.dwg

* NOTE: FRAME CORNERS ATTACHED w/ #8 X 2"
COURSE THREAD DRYWALL SCREWS: (3] @ HEAD,
(3) @ INSWING SILL & {2) @ OUTSWING SILL (TYP.).

*

4" (TYP) ——

4 (TYP) ——]

G JAMBS

3*(TYP.)

¢ o 4" [TYP.) —|
(TYP.) T 4" (TYP.) ——] AMP)—— =

S —

l ] ! I

11T 32

I

l

2X BUCK ! o
1X BUCK 1 2X BUCK [
DIRECTTO I I
MASONRY ﬂ 1XBUCK H
. HEAD & JAMBS I — — DIRECT TO i
(TYP.) I | MASONRY I
1 HEAD & JAMBS |
I B (TYP.) I
e i — H
il H
I _
I oF= [
I O E - ¥
- I e} in I
I = § 1
I I
I I
I . 1
- Il o H
I H
I H
SILL 7l SILL BB
_ (TYP.) F ! j _ - (TYP) r | :_4
Lyl | l Lt [l R
DIRECTTO
MASONRY
1X BUCK e’
\
2X BUCK \y
Jel] i el
_ \ _ P - P=-— 2 %:‘ 2 ‘:,<
TR - ARSI
ASTRAGAL ‘
@ VIEW A-A VIEWB-B VIEWB-8 BOLTHOLE \
Astragal strike @ head Astragal strike @ sil Astragal strike @ sil HINGE DETAIL
newing Outswing INSWING

DIRECTTO
MASONRY

IXBUCK
2X BUCK

‘\\\\& - . \9,’/ 10
3 SS9 ~%Z 2
EOZ S5y 8 £ 326"
RO = EiSSZ o
s -5 g & 0SS =2
o Zen ° F faSE don
‘ A / -"050\\ 2£2°
/, LR 4 \\ - =1
// Ctennese N -4 0 ‘0. 2]
7, \\\ a ZmzZ
’/[,I \\\ Zowo >
5 8RB
13 9328
Z E ~ EO) =M g
© E m s 8 go 3 . Cl
SlEBe REEE
52 Zle e
3 i S
. O P
— o; o ‘3 a0
T srie ;8 w
. =0
. % ~0
Q— o —l
og = o o
= = =
. & " &
E: 2 |35
= _ - 3 |3z
d o o ='; © m <
N E sile t 5 (1]
o S
in £ |2 §
= S x
SEE HINGE DETAIL SEE STRIKE PLATE é I
(TYP.) DETAIL 2 £
(TYP.) -
.o_.; m
e 825
HINGE JAMB  ASTRAGAL ”
5
7%}
o
1
N\
\\
DIRECTTO
MASONRY | (L)
\ 1X BUCK | L
\
‘ A\ (17) S
2X BUCK N ‘
g s ol A 2
@
@é. i 1, DATE: 3/24/21
il ®< g ) SAE N.T.S.
@ DWG. B: RW
@ Né\ Q\ ' CHK. BY: LFS
DRAWING NO.:
HINGE DETAIL STRIKE PLATE DETAIL FL-25575.14
OUTSWING
sueer 11 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:A\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.14-15.dwg

I

| S 3
244" | S S
( : ) HEAD & JAMBS
FINGER JOINT PINE
525"

4.56" i

245 —

( : ) HEAD & JAMBS
PVC

%

| | R
% } 313" { o
( : ) HEAD & JAMBS
FINGER JOINT PINE
562 * AT

e b

@ INSWING THRESHOLD

33 OUTSWING THRESHOLD

High-dam
[v 182" —]
NYLON BOLT A
RETAINER 2
5/16" @ STEEL SLIDEBOLT- |
(9-1/2" LONG) @
EACH END

SILLKEY (LEFT)

4.56"

53 ULTIMATE HURRICANE ASTRAGAL
Endura Products

—~— 2.01" —*‘

1.32" L—

0.08"

o

(:) SIDELITE SPACER
Inswing

Y111k
A\
N

iy s
“4 /
N x 2
Sk T,
S At - 9
:'9." '-%\’; 10
-~ N [=2] &L R |
= '8:3’ g -V et ]
=&z 3 1 L=Z
z O e g.:z: L5,
= 8 &: 05y .~
';’ W‘... :'Q\s E 8 @ g
Z > N NEEE:
%, > D504
%, A >2>4pz
,,,I P@\\\ % -
LUT AT 5oL
& ON 2
% o x28
2 E zZ 0w
S|k f3 5%y
SlEgy 5928
st "% madal
=g v,
= jc o
ale c2 §
<|E 37
TN
a 2o
-~
=
. | B
0 oy,
o SILLKEY {RIGHT) 5 5 CZ>
© @ a
t ==
& al 8
z |3
sE s
8 o
-l 122" |=— 4.56" § =
2440 —~f 5 8 |7
- >
“ ” % l )
M~
oS
[ /v, o o
— | em—|
5 %
n
‘ SILLKEY DETAILS E
Optional n:'
! " |
4 1 ‘ 2.29 | E
a
[ ' S
% =
z S
® o DATE: 3/24/21
Law]
SCALE:  N.T.S.
(: :) SIDELITE SPACER we. B BW
Qutswing o S
CHK. BY:
DRAWING NO.:
FL—-25575.14
SHEET 12 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.14-15.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A | 1XBUCK (SG >=0.42) wOOD
B | 2XBUCK (SG >=0.42) WOOD
C | 1/4'MAX. SHIM SPACE -

D |1/4"X2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | 1/4"X3-3/4" PFH ITW CONCRETE SCREW STEEL
G | 3/16"X 3-1/4" PFH ITW CONCRETE SCREW STEEL
H |3/16"X2-1/4" PFH ITW CONCRETE SCREW STEEL
K | 1/4"X2-3/4" PFH DeWALT CONCRETE SCREW STEEL
L | #10X2-1/2" PFH WS {1.15" MIN. EMBEDMENT]) STEEL
P |1/4"X2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

1 HEAD & JAMB (FINGER JOINT PINE: SG >=0.42) WOOD
2 | HEAD & JAMB PVC
3 | HEAD & JAMB (5.25") (FINGER JOINT PINE: $G >= 0.42) WOOD
7 | WEATHERSIRIP FOAM
8 | DOOR BOTIOM SWEEP PVC

9 [ #6X1-1/4 PFH DRYWALL SCREW STEEL
11 | #9 X 2-1/4" PFH WOOD SCREW STEEL
16 | LATCH STRIKE PLATE STEEL
17 | DEADBOLT STRIKE PLATE STEEL
19 | SILLKEY ABS
22 [ #8X1"FH WOOD SCREW STEEL
24 | #9 X 3/4" PFH WS STEEL
25 | #9 X1"PFH WS STEEL
26 | #10X2"PFH WS STEEL
27 | #8 X 2-1/2"' PFH WOOD SCREW STEEL
28 | #10X3"PFH WOOD SCREW STEEL
29 | 4"'X4"HINGE STEEL
31 | INSWING THRESHOLD ALUMINUM w/ COMPOSITE SUBSTRATE ALUM/ COMP
32 | SIDELITE SPACER - INSWING PVC
33 | OUTSWING HIGH - DAM THRESHOLD ALUMINUM w/ COMPOSITE SUBSTRATE ALUM/ COMP
34 | SIDELITE SPACER - OUTSWING PVC
40 | DOOR PANEL -
50 | SIDELITE PANEL -
53 | ALUMINUM ASTRAGAL ALUM
54 | ASTRAGAL STRIKE PLATE STEEL

—

\) 7,
& e /
\\\\ AT %,” 0
-~ o KN “ o
8 oz 8
S5y € az¢n»
=X ﬁ . <:z
8 &2 s,
: "\.% E’.’ o : g_) - T -
- ) O N oW
ALY SOS Z8g0
2, > P8 S50
PR LT L L o - 00 0
/, N N\ 5> az
“ 7 W 2.
LTI oL
& o - 0
v B 0 x28
o~ g Eo £ o o =
8 a L0 9 el
S aY 5025
G|t ¢ Do
— 8 b
=1 T 5
ole ¢
<[t g2 =
AN
Q o
—J
3 n
= <
o
3 |3z
D u
=
z |92
S
§ o
‘_
&) ©
& X
&
v
Z
O
0
o
" CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance fo mortar joints.
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors L
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. *;:‘
fa)
o
pd
DATE: 3/24/21
ITW BUILDEX - P /N T/S
TAPCON 1/4" 1-1/8° 2" rd : . R R
DeWALT N . . DWG. BY: W
utiRACONY | /4 1-1/4 ! 4 ok 8 LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-25575.14
wood screws to prevent the splitting of wood.
sHEer 13 oF 13

© 2021 R.W. BUILDING CONSULTANTS ING.



